Home Work III

ECON 302

Due Date 16th of May

1)
We wish to estimate the production function for wheat for some regions of Turkey, Y=(+(LL+(K K +e , where Y is the output of wheat, L is labour input and K is capital input. There are three regions we are interested in, Ankara, Istanbul and Izmir:

How you would modify the basic model above to test (Take each case at a time):

a:
The marginal product (partial derivative of Y with respect to L) of labour is different across regions.

b:
The marginal product of capital for Ankara and Istanbul is different than marginal product of capital for Izmir.

c:
Testing for constant returns to scale (disregarding the locations, i.e. do not use dummy here).

2)
Suppose we have the following simple model:



yt = 1 +2xt + et 

where et =(et-2 + (t , where  -1<(<+1 and (t is white noise error term.

a:
Show that covariance between et and et-2 is not zero.

b:
Derive the variance of et.

c:
If ( is known, how would you estimate parameters of the model? (Show the transformed model).  


3)
Suppose we have the following two equation model:

Y1 = Z1(1 + e1 and Y2 = Z2(2 + e2 [image: image1.wmf],
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Where Z1 =[Y2 X1] and Z2 =[Y1 X2 X3]. And 

a:
Step by step show how would  you estimate (2 using ILS.

b:
Derive the 2SLS estimates for (1 and show that they are consistent estimators. Discuss some of the other basic features of 2SLS.

EVIEWS Question

4)
Consider the following model:




Yt* = α + βXt + et
Where Y* = desired long-run expenditure for new plants and equipment; X = sales

Using the Stock Adjustment Model (or Partial Adjustment Model), estimate the parameters of long- and short-run demand function for expenditure on new plant and equipment given in Table 17.8 (page 710) of Gujrati.

How would you find out if there is serial correlation in the data? Apply the test and make conclusions about the presence of serial correlation

� EMBED Equation.3  ���





� EMBED Equation.3  ���
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